88387t 5. 20|e Az

S s @Al 12 ECH A2 TRl RN
‘ISB—TE 15}7] Dol ol
=8 1. () otof| Yot 42 HEoN L.
mie = o )z
(2) bE = 300 %=
=M 2. Azt Zo|7t 71 £MIE 7|ZE M 2N K.
A 68% O 1% 6%
© 90% @ 2%
( @ ® , O ©
=8 3. z2 AzZtrg| olof BEA L.
4 Y e N\
35 10x 255%
§ J |
4 N\ N\
2% 40% 190%
. J \§ _J
4 N\ N\
4% 15% 160%
. J \§ _J




33387t 5. Z0|Q} A|Zt

s 1o @XHAL AlZt2 OfE7| Cisfa ga w
13‘6;}]5_ 16—]'7] HIIEH”I_R(.]) o

o
El

T

=H 1. A 2MQ.
(1) 9 A 35
+ 3 AIRF 10

of

2) 1 AzE 25
+ 2 ARb 26

e o

PN BN

M Mo

M

)55 6|5

> )] o w w ol
P

28

P

Mr Mo
P

o
PN

=H 2. 71 ofHE 1A1Z 208, 252 1AZ 152 50 2EJSLICL T
7b ORIt @5 253 A7 H A7t B 2QI7tQ?
( 2 )AIZE ( 35 )5
=H| 3. AL =ML
1 4 A 45 B 2= @ 7 A 36 % £
- 1 AR 20 ® 2= - 1 ANz 20 % =

Mz

gl
Q1 o oo
B

8|5 8
Wl N o
B

}\] l“ﬁ-: @/\]




